s N
Y |
1/2" MAX. 1/2" MAX, i Y
LOAD BEARING SHIMS LOAD BEARING SHIMS 1/4 MAX. A b
SEE_CHARTS SEE_CHARTS S
SHEETS 1 & 2 SHEETS 1 & 2 LOAD _DEAING SHMS ) 1o g Rl
R U5 SHEETS 1 & 2 =5 ¢ %
. N 7= = 'g Clla
L | = METAL é“- 23
. B o o
W TYPICAL ANCHORS ~ SIRUCTURE [|@ = &
o ; FOR SPACING s
/ & g§ a
s : m— R . [ I e
; : -1 W e =3 =—HH == oh s <3
v 3 G . B N - T meeme e veetm e e comis @ b m B . 2 ’_I “ h —
. ='~“» : o ke ; / \% J ~ a ggggg
’g R \ BA 287 v0OD BUCK * & § E%"’dg
e o ! Zns
¥ . = r— : : 00D STRUCTURE “oll g3§
a ":"';';: j \ i <Wﬂ5éq.-
R SO e N\ /e
. \ EXTERIOR TYPICAL ANCHORS == ]
Tl EE ELEV. =l
T 0.L.0. FOR SPACING =L * o oDl coee
== ‘? .. ..
@ § g ".§‘ eeccoe
, ALTERNATE g 3 IR .°
1/2" MAX,
LOAD BEARING SHIMS | YA JNCHORS c|E ¢ -g,' cosese
IYPICAL ANCHORS 4o o) IRORO SEE_CHARTS . FOR SPAGING £ “5.‘ seeses
FOR SPACING LEAF WIDTH , SHEETS 1 & 2 . p: 2 QE]“ &) ee’e
h % @ Yy esooop
FRAME WIDTH 355 t‘gé*
g 8 © .";'l :
2y e
© - gl8za >
Zl32"% g
[ o = ~
1/2" MAX, @ @\ gdgﬁ_,
LOAD BEARING SHIMS 2lExswm
w
-y \ e
SH .
N \/ : T T
18Y = 1
00D Bucx‘\ \ &8 b
B < =
L ® ® 0
i — ‘:g
- \ T 2
PR o
-
<= e — { § %
y — HE
B ) r , B
@ v .
W X i DOORS SHOWN WITH SERIES—9500 FRAMES §3§
=] A CAN ALSO BE USED WITH SERIES—-MG5000 FRAMES, :g S g
HAVING CURRENT NOA. LOWER DESIGN PRESSURE @ 2« )
WiLL CONTROL. | SH——
D.L.O. T R i._
Engre JAVAD AFID "l g
EXTERIOR 1 L Ak
( FLA. PE § 70502 g .
CAN. 3538 RODUCT REVISED sHell®
- o complying with the Fiorida X el | P
v 14 -
TYPICAL ANCHORS B ILS
SEE ELEV. Mg @ ' - Fory 2
FOR SPACING @ @ EAF LEAF WIDTH é— drowing no.
LEAF WIDTH . |
FRAME WIDTH . vtiami Dade Praduct Contr L W1 1 40 J
APR %5 2012 heet 5 of10.1




CONCRETE

3000 PS! MIN.

TYPICAL ANCHORS
SEE ELEVATIONS

/ FOR SPACING

CONCRETE
3000 PSI MIN.

TYPICAL ANCHORS
SEE ELEVATIONS

FOR SPACING

1/2" MAX.
| LOAD BEARING SHIMS

SEE CHARIS -

FRAME HEIGHT

=

D.L. OPGC.

(%]

% o

: ,‘_‘2’3

2% -
O

al

3

PPt R

5/8" MIN. TYP.
GLASS BITE

7

LEAF HEIGHT

NV

VA

Z

D.L. OPG,

A}

Y

FRAME HEIGHT

b edd

ob bé

SERIES—-9500 FRAMES

ALTERNATE

D.L. OPG.

S

<

EXTERIOR
..a:h

13/16" MIN, TYP.
GLASS BITE

©

ALTERNATE

L

LEAF HEIGHT

NIV

D.L. OPG,

& &

)

. B\' o %”’ *"‘Kﬁa ,{ e

SEE CHARTS

1/2" MAX.
SHEETS 1 & 2

LOAD BEARING SHIMS

1/27 MAX,
LOAD BEARING SHIMS

SHEETS 1 & 2 5

TYPICAL ANCHORS .
SEE ELEV,~— -
FOR SPACING ©

EDGE DIST.

EXTERIOR

D.L. OPG.

FRAME WIDTH

ALTERNATE

SEE_CHARTS
SHEETS 1 & 2

TYPICAL ANCHORS
SEE ELEV
FOR SPACING

PRODUCT RENBWED

as complying with the Florida
BuﬂdlngCog!e
Acceptaice NO 7ot o
Bxpimﬁon Dalg‘ f‘lﬂI

Miam Dade Product Contrat:

PRODUCT REVISED

TRANSOM

SERIES-9600 FRAMES

O,

(®)

O

EDGE DIST.

xrERIOR

D.L, OPG.

FRAME WIDTH

SERIES-MGS5000 FRAMES OPTION Bk

as corbplying with the Florida

Buitding Code  , +~
AcoepufncaN (L= Og

é;fsz >

Expw«{‘n ;Date & ’li‘_,

Mlaml Dade Pronucl Control

TRANSOM JAMB

!SERIES-MG5000 FRAMES OPTION

DOORS SHOWN WITH SERIES—9500 FRAMES

CAN ALSO BE USED WITH SERIES—MG5000 FRAMES,
HAVING CURRENT NOA. LOWER DESIGN PRESSURE
WILL CONTROL.

Engr: JAVAD AHMAD

oL

fLA. PE § 70592
CAN, -3538

APR 25 2012

f
<

COMP—ANL\W11-40MG )

[

N

FAX. (305) 262-6978

AL-FAROOQ CORPORATIO
ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE

e MIAMI, FLORIDA 33174

$EL. (305) 264-8100
e

|

2470-%8258

®
L
[ ]
-0

FAX, 33¢5)

MR. GLASS DOORS & WINDOWS INC
7440 NW. 66 STREET

MIAMI, FL. 33166

TEL. (305) 470-8284

J[|( SERES-MG500 ALUM OUTSHING FRENCH DOOR (LM.))

J

NO CHANGE THIS SHEET

ﬂ

by [ description

(revisions:
no| dofe
A [03.29.12

..

|

s
]
@
~
L2]
B
Q
@

dr. by: HAMID

drawing

chk. by:

cC —

W11—-40
{sheet 6 of10.1)




Vg (" )
o83 ALTERNATE OPTION (Series S—MG5000) H@U 2
090 *970 2.500 — o354 ' 4.968 © ki
00— l“" _ R ~.070 g
O 6 [ Aﬁ ° J
2.500 ~—o000 f L_ 17sof| =B & E
2.500 200 2.500 . 1 ‘920 2.750 e ! é :  dlE
) _{ 3.988 l 078 _j o § g’ o
() ! ] DOOR STOP TP. 0. %
-500 g 5.0 i *—1.953——-»] 1.063 L @ I o w
¥ .190 220+ foer f 3.984 Qb
b—2.485— 4970 _hl 032
_ e 110 050 Q—_Ego (75) TRANSOM HEAD S—MG5000 ofule
(%) DOOR HEADER Series MG500 g (71) TRANSOM HEADER Series 9500 ‘ = Q9tzzy
[e—2.232 — @ JAMB FILLER 41 000l I 3.984 & o » & g
—d 1,110 b= _{-289 @ : S— <§3E§ﬁ
[12.032 DOOR STOP COVER r it il P T
Q10 200 }'— ' -
. (£3)DOOR JAMB Series MG500 £ ’_W_Q 060 vl E 11 e Caaeam e N C11 E.E’.:,
C___—_e&98,
' 1181 e OE —tfe.127 1.750 | =22
3.937 3.383 1 .320 - 05 X . =3re} °..%2¢
- 4874 LI HEAD COVER T e j S =12 || T
2.4, (< e\ 1_ 078 o ol * e
| T 625 — 1.000 f=— —JT.OOOL ) 4,968 § % :...g.l ..0.:.
m———— 2.250 312 f=— TRANSOM 5 % : § ..
% 1800 (119 GLAZING ADAPTER |(76) HORIZONTAL AT DOOR S—MG5000 BIE eRq ool
= CORNER BLOCK EJ_% — clse || e
sl 3.500 2.905 1.317 —] 578 r_ ' £ § &é&;.:'
1.810 — ‘ . ) =
TOP RAIL 4,422 F— ly s r .-J-l\\:) f = §uf§:é:
oo [ T 125 (1 G SO w g
I HINGE/LOCK STILE " g 1250 ~=l-.070 56 3 §§ nps
=l _ -8
4.374 I-»—z.ooo_.== @ TRANSOM ADAPTER 3736 —=f-fy 3220 5.000 3.750 9 o Ef 5
(] 3.438 PRODUCT RENEWED GIZE~SR
110 —={.910 |“ as complyfng with the Florida
. i S CLOSURE DOOR STOP 4 o Bullding Gods 4 . 4.2 ~ w
.1 & ’ 0 ot ot § =
e 20 950 900 Expiration Date L0 7L B 91@—' [&L
' 2.250 e N 2 E
—e fs— B -
5.000 7437 125 835 250 —=ir=—.060 M{arm Dade Product Control 2061 %
6.500 ) i j 29 3 1000 == .JAMB FILLER S~MG5000 (17) TRANSOM JAMB S—MG5000 5/
150 | oso 1 (13)  TRANSOM GLASS STOP g%
3.436 1.427 320 }=  _oep 1.786—= g0
n______ @ L— -=—1 746 ] i L 062 : z
MEETING STILE — INACTIVE LEAF ~=i 283 427 % t . L
603 -
¢ s 4374 }—— 1.950 L.__-L_ 1.117 t 1.000 ,é“ég
* =t .283 i ¢ -—Q- S
fo—2.232 ~—= 3.436 GLASS STOP L1 972 L— &j2 <« J
- £ {2 e e GLASS STOP S—MG500(
o . GLASS TRANSOM - -
©) BOTTOM RAIL ‘_"\‘3'7 "‘ 114 125 €9 DOOR SweeP |(E1) CORNER PLATE (INSUL. LAM ) :
J { Enor: JA\(I:ADLN-IMAD 5 §
]| >
2,445 —= 2.250 f SEE SHEEY 10.1 FOR - .
’ =125 122 HIGH THRESHOLD DETAIL A& Bosee PRODUCT REVISED ol 5]®
¢ — 1.950 L ! as complylng with the Florida el .l ¢
HM 500 AT Ty 500 Building Codo |o3._ ¢~ gy vy s JIs S
’—"‘p—j—w\j 103 —3 - Asceptanco No Ll { /.  c——)
122 ) T l 00 Wmoy!)nlc L SfE draving no.
. 3.436 J © 203 o 4.5 Sl AN W11—40
- fe— B S——
. APR/ 2 5 2012 n{lam: Dads Product C.om __J
oL ALTERNATE THRESHOLD cheel 7 of10.1
@) T s MEETING STILE ~ ACTIVE LEAF  |E14)L0CK BACK UP PLATE £S9015 .




ITEM & | PART g QUANTITY | DESCRIPTION MATERIAL | MANF./SUPPLIER/REMARKS ITEM # | PART # | quanTITY | DESCRIPTION MATERIAL | MANF./SUPPLIER/REMARKS

El ES9012 1 DOOR HEADER 6063~T6 | ~ T £59506 TRANSOM HEADER Series 9500 6063-T6 | -

E2 £S9014 1 STANDARD THRESHOLD 8063-16 | - T2 ES8019 TRANSOM ADAPTER 6063-T5 | —

£2A £S9015 i SADDLE THRESHOLD 6063-T6 | ~ T3 ES9018 TRANSOM GLASS STOP 6063-15 | -

£28 £S-9026 1 HIGH THRESHOLD 6063~T6 | - T4 £S9502 HEAD COVER 6063-75 | -

E2C £5-9027 1 THRESHOLD COVER 6063~T5 | - MT1 #10 x 1/2° F.H, ST/ST SMS - -

E3H £S9013 2 DOOR JAMB -~ HINGE 6063~T6 - MT2 TRIM CASKET SILICONE -

E4 £59001 2 TOP RAIL 6063-15 | - MT3 INTERIOR SPACER 1/4™ x 1/4” FOAM -

ES £59002 2 BOTTOM RAIL 6063-T6 | - MT4 SETTING BLOCKS 1/18” x 3/4° EPDM DUROMETER 65
E6H ES2003 2 HINGE/LOCK STILE 6083-15 | - 5 ESBO05 AS REQD. TRANSOM HEAD S-MG5000 6005-T6 | -

E7 £52006 1 MEETING STILE — INACTIVE LEAF 6063-15 | - T6 £S8013 AS REQD. HORIZONTAL AT DOOR S—MG5000 6005-~T6 | -

E8 ES9007 1 MEETING STILE ~ ACTIVE LEAF 6063-15 | - 17 £S8012 AS REQD. | TRANSOM JAMB S—-MG5000 6005-T6 | -

E9H ES9004 4 HORIZONTAL GLASS STOP 6063-15 | - 8 ESBOO3 | AS REQD. | JAMB FILLER S—MG5000 6005-15 | ~

Egv £S9004 4 VERTICAL GLASS STOP 6063-15 | - T9 ES8006 AS REQD. | TRANSOM GLASS STOP S-MG5000 6063-T5 | -

£9.1 ES-9029 4 GLASS STOP (INSUL. LAM. GLASS) 6063-T5 | ~ T10 ESB014 | AS REQD. | TRANSOM GLAZING ADAPTER 6063-T6 | -

E10T £S9008 4 CORNER BLOCK -TOP 6063-15 | -

E108 £S9008 4 CORNER BLOCK — BOTTOM 6063-15 | -

ENT ES9009 4 CORNER PLATE - TOP 6063~T5 | - 1/4” HEAT STREN'D GLASS 1/4° HEAT STREN'D GLASS

E11B ES8009 4 CORNER PLATE ~ BOTTOM 6083~T5 | -

E12 ES9010 4 SUPPORT ANGLE 8063-T5 { 3/4™ X 1" X 1/8" X 9" LONG 080" INTERLAYER .090" INTERLAYER

E13 ES9011 | AS RQD. | HINGE BACKUP PLATE REINFORCEMENT 6063-T5 | - g%gfgog;fa §$N.T§J§$.

£14 E£S2020 1 LOCK BACKUP PLATE REINFORCEMENT 6063-T5 | -

£15 £S9016 AS ROD. | JAMB FILLER 6063-T6 | —

£16 ES8017 | AS RGD. | REINFORCEMENT 6063-16 | - 1/47 HEAT STREN'D GLASS ) 1/47 HEAT STREN'D GLASS
Ei7 €S9021 | 1/ CLOSER | CLOSER SUPPORT CLIPS (PAIR) 6063-15 | - b3 pu SILICONE F w SILICONE

€18 ES8022 { CLOSER DOOR STOP 8083-T5 | - Z[® DoW CORNNC 983 z? o ORNING o83
E19 £59023 | 1/ CLOSER [ CLOSER COVER PLATE 6063-T5 | — f § _M\I f g

E20 £59005 DOOR SWEEP - - Lla 4 B AN Qe it 7N

E21 £S9051 DOOR STOP - - wl / il \ il 4 i \

€22 ES9052 DOOR_STOP COVER - - I i \ ! i \

M1 28 §12 x 1° P.H. ST/ST Sus - - { : | { ‘ i

M2 AS RQD. | §12 ~ 24 x 1/2° F.H. ST/ST Ms - - &\ / x \ /

M3 18 #8 — 32 x 1/2" P.H. ST/ST NS - Z g\ [J l/ g \ ,:J I/

N4 16 3/8" — 16 x 1° HEX. BOLT - Z % ~_ & ~_

M5  |ESMG500~G0{ AS RQD. | WEDGE GASKET EPDM DUROMETER 70 GLASS TYPE ‘A’ GLASS TYPE '‘B'

M6  [ESMG500-G0J AS RQD. | SPACER GASKET EPDM DUROMETER 70 9/16" OVERALL 9/18" OVERALL

M7  [ESMG500-G0J AS RQD. | BULB VINYL, BASE-POLYPROPILENE, BULB-TPE - ULTRAFAB, DUROMETER 73

M8 £SMG500-81 8 SETIING BLOCK EPOM DUROMETER 80

—— 1/4" TEMP. GLASS
M9 AS RQD. HINGE 4 1/2" x 4 - - PRODUCT RENEWED
MOA AS RQD OFFSET PIVOT HINGE ALUMINUM | - 3/8" AR SPACE & complying with ll\e Florida
BullclmaCode y N ~
M12 1 3 POINT LOCK - - 3/16" HEAT STREN'D GLASS Acceptanco N - N
M13 1 KEY CYLINDER - - ExpimtionDale ZOLG
Mi4 1 THUMBTURN - _ [090° INTERLAYER
BUTACITE PVB By P g

M15 1 2 POINT LOCK - - B8Y 'DUPONT' Miemi Dade Product Conlm!

M16 1/ LEAF DOOR CLOSURE - - ) 3/16" HEAT STREN'D GLASS PRODUCT REVISED

M17 2 PUSH - PULL - - ‘9_: w SILICONE ascomplymg\nlh(hel"lorida

M1 | W13273NK | AS ROD. | PILE - HEADER - - ~ 5 DOW CORNING 983 !iuieléﬁnwgnm A %Z OS1"7.2%
M20 Ww23451NK | AS ROD. | PILE - MTG STILES - - s ? DOW CORNING 795 g:pygs&og?me olizj2 !3
M22 - 1/ CLOSER | CHANNEL SPACER 5/8° X 1-3/4" - - w3 y I\ M \ By~ s .

M23 2 THRESHOLD CLIP - - & i :l \ ,,4iamg [}ade?mductComml

M24 AS RQD. | STRUCTURAL SWICONE - - TG \ Ry

M25 AS RQD. | SILICONE - - } bl | CIVIL

26 2/ CLOSER | 1/4 — 20 x 2" HEX. BOLT - - z\ y, PRAE @5%%592

M27 3/ CLOSER | #10 x 1" P.H. ST/ST SMS - - g \ J l

M28 6/ CLOSER | #10 x 3/4" F.H. ST/ST SMS - - g -

M29 3/ CLOSER | #10 x 1° F.H. ST/ST SMs - - s

430 AS RQD. | #8 x 1 1/2° F.H. ST/ST SMS - -~ MS“TY#

1-1/8" OVERALL
M31 W1335INK | AS RQD. | PILE — DOOR SWEEP - - APR 2012
M32 W13275NK | AS RQD. | PILE ~ HEADER - - GLAZING OPTIONS

N

F
C

COMP—ANL\W11-40MG )

=

[

N
FAX. (305) 262-697S

AMI, FLORIDA 33174

AL-FARCCQ CORPORATIO
ENGINEERS & PRODUCT DEVELOPMENT

YEL. (305) 264-8100

(.:

4235 S.W. 87 AVE

7440 N.W. 66, STREET

MIAMI, FL. 33186
TEL. (305) 470-8%84 eefrk &

( SERIES-MG500 ALUM OUTSWING FRENCH DOOR (LM..)}
MR. GLASS DOORS & WINDOWS INC.

|

]

.).

305
°

U

04308285

|

J

SILICONE REV,

o

A |03.29.12

(no| date T by[description

(revisions:

07~15-11

®
-
E
o
B
B
-4
o
A

date:

dr. by: HAMID

e/
@heet 8 of10.)

|

chk. by:

c— —— — —
PR USSP
drowing no.

W11-40




LOCKS: (See Table #1 or #3 for Load Capacities) s

O
Y @ |13
<+
OPTION #1: OPTION #2: OPTION #3: ) )i
o E
ACTIVE_LEAF:; z o>
CONCEALED VERTICAL ROD PANIC EXIT DEVICE BY CONCEALED VERTICAL ROD PANIC EXIT DEVICE BY KEY OPERATED THREE POINT LOCK SYSTEM BY O @ %
'JACKSON PANIC SYSTEM' #1285 LOCATED AT 41" 'UACKSON PANIC SYSTEM' #2086 LOCATED AT 41" 'ADAMS RITE' WITH CONCEALED FLUSH BOLTS AT TOP & = u eld
FROM SILL AT EACH LEAF. FROM SILL AT EACH LEAF. BOTTOM OF LOCK STILE AND A THUMB TURN ON THE §g N
FASTENED WITH FASTENED WITH INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL oz &l°
(1) #14 X 1" HH SELF DRILLING SCREW AT ONE END AND (1) #14 X 17 HH SELF DRILLING SCREW AT ONE END AND | FASTENED WITH &s 3
(2) #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END (2) #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END (2) #12-24 X 1/2" FH MACHINE SCREWS ga
<
ggNCEALED VERTICAL ROD PANIC EXIT DEVICE BY ggNCEALED VERTICAL ROD PANIC EXIT DEVICE 8Y INACTIVE. LEAF: 85 p
¢}
'ADAMS RITE' LOCATED AT 40" FROM SILL "DOR—~O~MATIC' LOCATED AT 40" FROM SILL MANUALLY OPERATED TWO POINT LOCK SYSTEM BY opude
AT EACH LEAF. AT EACH LEAF. ADAMS RITE' WITH CONCEALED FLUSH BOLTS AT TOP & oL<g
FASTENED WITH FASTENED WITH BOTTOM OF LOCK STILE AND A THUMB TURN ON THE o ',;g §
(2) #10-32 X 3/4" FH MACHINE SCREWS AT ONE END AND | (2) #12-24 X 1/2" FH MACHINE SCREWS AT ONE END '[_["ATSETRSSERb 1;%‘?::“0 AT 40" FROM BOTTOM OF PANEL 5§?§¢ &
- n L 0
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END (2) #8-32 X 1/4" PH MACHINE SCREWS 3/8" HEX STEEL TIP 553§§
CEASHy,
BOLT GUIDE iy’
=S ORR
STEEL ROD WTH 212 %2
THREADED ENDS f = o8 i
§ § :.. & ....:.
[ ] (1)
§ Z 3 ..ﬁ esssce
E ; ....,’ XXXYX)
‘-z? 3 .E .oo.o.
% (XX X ]
PANIC EXIT DEVICE 2E
= n O <«
OPTION #1 OR #2 18 =t
=%|1=] (o.n |
= Do
g18za7
THRESHOLD BOLT Sla3Z 8
T 1P o= &
Bl o<
- gl § I
HINGES: (See Table #1 or #3 for Load Capacities) &) = =
CcC———— >
OPTION #1: QOPTION #2: (
OFFSET PIVOT HINGES 4 X 4-1/2" ST. STEEL BALL BEARING BUTT HINGES &
ALUMINUM AT TOP AND BOTTOM LOCATED AT &
FASTENED TO FRAME AND THRESHOLD WITH 11" FROM TOP & BOTTOM AND AT MIDSPAN v
#10-24 X 1/2" FH THREAD CUTTING SCREWS FASTENED TO DOOR FRAME AND LEAF STILE WITH HE
(2) AT THRESHOLD, (2) AT JAMB BOTTOM (4) #12-24 X 1/2" FH MACHINE SCREWS PER HASP | B
(3) AT FRAME HEAD 5|3
HEAVY DUTY BRASS OR BRONZE AT MIDSPAN g5
FASTENED TO FRAME AND LEAF WITH o/ 2
(4) 1/4-20 X 5/8° MS B
PRODUCT RENEWED .o
as complying with the Flarida 2llo[S
Building Codo ¢ 2 5 Ofi5| ]
Acceptance No "y 83 T4 2o
Expiration Date &7 4. € HEE ]
By ,,,3.’2;4"\ ”31‘:"*.‘:3."‘“%" )  Si—
Mimpi[)sde Pvoduct Condrol |l %
el S Engr: JAVAD AHMAD afl Pl e
¥ S . RA pﬁ"‘} 70592 NESIE:
o L]
CAN, 3538 NIESIE
PRODUCT REVISED ¥ § | 2
JE 8s complying with the Florida 3 s 3
| Building Code - | —————E )
g. (= ] Acceptance No 2 sﬁ » 2»‘5 drawing no.
it = petminbu I0[TS/201% W11-40
- y B Tty [ S )




)

.

AV L8 'S SETT
ANINHOTIAIAQ 1ONAOU 2 SHIINIDNR

2| NolLVHOdHOoD DOOUVI-TV |

‘ONI SMOAONIM ® S¥N00Q SSVIO MW
@.zl_u 3000 HON3YS ONISING WNTV 88:.&.%&

(onor—1 LM\ INV—dW0D NFBzo—oln (503 xvas w.mw_mlo pr—— )
5260-29% (508) XV oorevsz@on T ¥ | %e * o el * 3 oglee 14 ‘AVIN
g PLEEE YAIMOT “TAVIN, o tes co Fw“mﬁ._.w.ww "MN O¥veL

JIIHS SiHL 3ONVHO ON

T1°6T'R0)|

e

uoidiiossp

Ag

S50y

C

(SUQISIAD)

sheet 10 of 10,

FH THREAD

#10-24 X 1/2
«_ CUTTING SCREWS

24 X 1/2°
FH THREAD

#10
CUTTING SCREWS

]

HRESHOLD CORNE

Pi

S

EOM 2
ae LI 42
Qe N |
L 2a NN Vg
g  Bigzi-¢c
O m.m P R K
O M..»..YC &g R
pEpdy (2
- REz 63 |E
Ol 3 b = .T
I g2adR &=
%
& o , o
o] =
= m Sa ~
% =3 o)
23="
Z°8%
= < o
g 49 o
o o <€
1

FRAME TOP CORNER

WELDED TO
VERT. STILE

THRESHQOLD CORNE

TOP RAIL

VELDED TO

VERT. STILE




D.L. OPG.

6

LEAF HEIGHT

FRAME HEIGHT

NS/

O GOOO bbb

@\\JI <=t/ .
\ f 3
| '

S S

&

cowcm—:m‘/ S ST 11 IR LR T }
3000 PSIOIN,.- , €OGE QIST. "* 9 ' "\ " [iai STRENGTH GROUT
R POURED & HARDENED

f'c = 5000 PSI MIN,
NOT BY MR. GLASS
MUST TRANSFER SHEAR
LOADS TO STRUCTURE

HIGH THRESHOLD OPTION
APPROVED FOR WATER RESISTANCE WHEN USED WITH SINGLE DOORS
NOY APPROVED FOR WATER RESISTANCE WHEN USED YHTH OOUBLE DOORS

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

YRODUCT REVISED

as complying with the Flogida
Building Code ¢ ¢

I

~—1,903 —=
} {
374 % ¥
i
100

THRESHOLD COVER

ES9027

090 TYP,~e

625 iifm § 9

Or—

2.485

ﬁv_\,q,_,.\,-\/

i

.150—?

2.250

4.970

HIGH THRESHOLD

ES9026

-

PRODUCT RENEWED
s complying with the Florida
Building Code
Acceptance No
Bxpimtiop Date ‘

1 2-052,
27T/

é,/s/ M
L~ ’/
/

HI-THRESHOLD CORNE

Engr: JAVAD AHMAD
civiL
FLA. PE § 70592
CAN. 3538

>

APR 25 2012

Miami Dade Praduct Conlrol "

o, L2
o128

a N

f
<)
COMP—ANL\W11-40MG )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
*NYIAMI, FLORIDA 33174

&L (305) 264-8100

¥
L ]

&) “z0-8255,

2l
o0

MR. GLASS DOORS & WINDOWS INC.
FL. 33186

7440 N.W. 86¢STREELT

[ SERIES-MG500 ALUM OUTSWING FRENCH DOOR (LM.))
MIAMI,

|

J

e FAX.

TEL. (305) 470~

|

)

NOQ CHANGE THIS SHEET

/

no| date | byl description

(revisions:
A [03.28.12

-
b}
®
B
8
]
3

dr. by:  HAMID

¢chk. by:

T T
drowing no.

W11-40

-~
{sheet 10.1 of 10. 1






